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Q.NO 

, 

TYPE OF QUESTIONS NO OF SUB 
QUESTIONS 

MARKS ALLOTED 
TO SUB 
QUESTIONS 

TOTAL MARKS TOTAL% 

1 Do as directed 
(Grammar and vocabulary) 

a,b,c,d,e,f 6x2 12 12% 

2 Fill in blanks a,b,c,d,e 
(Based on text exercise)  

5x1 5 5%  

3 Answer the questions as 
asked 

a,b,c,d 4x2 8 8% 	a 

4 True and False a,b,c,d,e 5x1 5 5% 
5 Short answer prose (i),(ii),(iii),(iv),(v) 5x3 15 15% 
6 Long answer prose (i),(ii),(iii) 3x5 15 15% 
7 Short answer poem (i),(ii),(iii) 3x3 9 9% 
8 Long answer poem (i) 1x5 5 5% 
9 Composition, Paragraph 

picture/dyes 

(i) 
Writing based on  

1x5 5 5% 

10 Composition long answer 
	 (Application/Letter) 

(i) 1x6 6 6% 

11 Composition Long answer 
(Essay) 

(i) lx10 10 10% 

12 Unseen Passage 
	 (Short answer) 

(i),(ii),(iii),(iv),(v) 5x1 5 5% 

TOTAL 100 100% 	
a 

; 

• 
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ANNUAL EVALUTION:BLUE PRINT 2020-2021 

CLASS-8 

SUBJECT-SOCIAL SCIENCE 

TIME-3 HOURE 
	

TOTAL-100 

UNIT 
NO 

SUBJECT- 
AREA 

INCLUDED 
LESSONS 

KNOWLEDGE-30% UNDERSTENDING 40% APPLICATION AND 
SKILL 30% 

TOTAL 
MARKS 

MCQ VSA SA 
1 

SA 
2 

LA MCQ VAS SA 
1 

SA 
2 

LA MCQ VSA SA 
1 

SA 
2 

LA 

1 HISTORY 01 TO 03 1x1 1 xl 1 x 1 03 
2 CIVICS 04 TO 05 lx1 1x1 1x1 03 

3 GEOGRAPHY 06 TO 07 1x1 1x1 02 
4 HISTORY 08 TO 09 1x1 1x3 1 x5 09 

5 CIVICS 10 TO 12 1 x 5 1x1 1 x 5 1x5 16 

6 GEOGRAPHY 13 TO 16 1 xl 1x3 04 
7 HISTORY 17 TO 19 1x1 1x7 1x5 1x3 16 
8 CIVICS 20 TO 22 1x5 1 x 7 1 x 3 15 

9 GEOGRAPHY 23 TO 25 1x1 1x3 1x5 1x7 16 

10 GEOGRAPHY 26 TO 27 1 x 5 1 x 3 1x7 1x1 16 

TOTAL NO 05 01 01 02 01 06 02 02 01 02 03 03 00 02 01 100 

10 13 09 
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